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a—F—B K #fcad(Hz) 0.219|fca3=4.9 x 10°Vs (A 0 a3/Moa3)'"”?
EEEAL A JLAa3(Nm/s?) 3.80E+19|Aa3=Moa3 X (4.9 X 10°Vs (A g a3/Moa3)*x 27)°
s
& Sbkm?) 2953|Sb=S-Sa
BEXRH 108
HETE—A2 FMob(Nm) 2.23E+20|{Mob=Mo—Moa
BXRREBOE—AVE 2.06E+17
FRYEDb(m) 1.63|Mob= 1 DbSb
5417835 A—% A ob(MPa) 3.4| A ob=2.436Mo/S"’
a—F—RARHfc(H2) 0.048|fch=4.9 x 10°Vs (A 0'b/Mob)'”®
SEERBLAIL(INm/s?) 2.00E+19) Ab=Mob X (4.9 X 10°Vs (A g b/Mob)"®x 2 77)2

47




]

BRSO R

140.0

144.0

2-3-7-2 1938
17 43

M7.5

148.0

2-3-7-3 1938
50

M7.3

11 5 19

48




533

{ X L ROk B}
[a}
=

SELF
143

2F:
655
53
535

3T
143

2-3-7-5 1938
11 5 17 43 Mj7.5
/ Mw 7.5
0.075

Mw | Mt Mj Mw

5/23 7.6 7.3 7.0 7.3

/ 11/5 17:43 8.0 7.5 7.5 7.5
® 7

® 5% 11/5 19:50 7.7 7.6 7.3 7.5
655
© o
/0 553
® 3
Ll

142 . —F143 (20041 )
Mw
2-3-7-6 1938
. 3.5MPa
11 5 19 50 Mj7.3
Mw 7.5
0.075

49




1958 ( )

*—

144.0 148.0

2-3-8-1 1958 Mj8.1, Mw8.3

144.0 148.0
2-3-8-2 1958
Mw8.0 k=0.0027 h=0.0038 0.075
L=170km W=40km 40km 75<

50




1994 ( )
46
9
O (a
|:|E ;
44 =i o s
d'o O .. Slan S e
g nehe
S :I:Il ® . ; ... .. | |
2 DDD.D " : ‘rll
a2l —F
T
e 7
o B R
[
..'.l. 3L
140.0 142.0 144.0 146.0 148.0
2-3-9-1 1994 M;j8.2,Mw8.2
o (I
MSK

3-9-2
Mw8.0
L=170km

1994
k=0.0027 h=0.0038
W=40km

40km

0.075

75<

51




585
5 8
LT

1994

® 7
o 5
® 533
® 4

148

146

144

75<

1994

170km W

2-3-9-3

11MPa

40km Ao=

Mw8.2 L

52



1994

2-3-9-1
%ﬁ Mw8.2 11MPa
RSLkm) 170
TEW(km) 40
¥R E d(km) 40
£R[ 0 57
BRI SC ) 75
FRYFAC ) 125
<Y =Fa1—FMjma 8.2
HEE—AFMo(Nm) 2 5E+21
E—AVRIT=Fa—FMw 8.2|Fith - & F(1995)
ROOBICRIZNGA—5
7 B A& S (km?) 6800
SIEEEVskm/s) 3.93
fﬁiﬁ%fﬁp(g/cm% 3
Rt 1 (N/m?) 46E+10| y=p Vs®
EHREI 71/ 35 2—5 A0 (MPa) 11|53k - &7 (1995)
EHFXYED(m) 8.06]Mo=u DS
BIRICERE Vr(km/s) 2.8|Vr=0.72Vs
Fmax(Hz) 6
fo(Hz) 0.031fc=4.9 x 10°Vs (A0 /Mo)"*
SEEHL A JLANM/s?) 9.88E+19|A=Mo x (4.9 x 10°Vs (A0 /Mo)"/* x 277 )?

T AR TAE AR NTF—5

7 ARY T 4 DHEESakm?) 1352

T ARYTARDTFH T XY EDa(m) 16.20|Da=D x 2.01

T AR TATDIE—*> FMoa(Nm) 1.02E+21|Moa= 1 DaSa

T AR T4 DG 1785 4A—8 A0 a(MPa) 49.7| A0 =2.436M0/S"*

fc(Hz)

0.070

fc=4.9 X 10°Vs (A a/Moa)"”?

SEREEL A JL(Nm/sD) 1.99E+20]A=Moa x (4.9 x 10°Vs (A0 a/Moa)* x 2 77)°
FITARY T4
T ARYT A1 D EFESal(km?) 476
ES 19
T ARYFA1TADFEHF XY EDal(m) 18.09|Moal= ¢ DalSal

T ARYTF A1 TOE—+*>FMoal(Nm) 3.99E+20|Moal1=Moa x Sal1'®/ = Sai
EREDE—AVE 5.25E+18
T ARYTA1DIE N85 4A—4 A0 al(MPa) 93.6] Ao a1=2.436Mo/S"®

fcal(Hz)

0.119

fc=4.9 X 10°Vs (A0 a/Moa)'”®

EEEL AL (Nm/s?) 2.22E+20|A=Moa x (4.9 x 10°Vs (A0 a/Moa)'* x 211 )?
F2T7 AR T4
T AR T 42D EFESa2(km?) 200
ES 8
T ARXT 2RO BT KXYEDa2(m) 11.72|Moa2= i DaSa
T ART42THDE—*2FMoa2(Nm) 1.09E+20|Moa2=Moa X Sa2"*/ 3 Sai

EZREDE—AUL

4.53E+18

T ARYT 42Dt 735 +A—4 A 0 a2(MPa)

93.6

A0 a2=2.436Mo/S™

fo(Hz) 0.183|fc=4.9 x 10°Vs (A 0 a/Moa)"”*
EREBLALNm/sD) 1.44E+20|A=Moa x (4.9 x 10°Vs(A 0T a/Moa)* x 2 0)?
B37 AR T
TZ’;;J?_'{GO)ﬁESaZ(ka) 476
ES 19
T AR T43ADFHF XY EDa2(m) 18.09|Moa3= y DaSa
F AR T 42 THE—+>FMoa2(Nm) 3.99E+20|Moa3=Moa x Sa3'®/ = Sai

EREDE—AUE

5.25E+18

T ARYT 43D B H/AF5A—48 AT a2(MPa)

93.6

/0 a3=2.436Mo/S"®

fo(Hz) 0.119]fc=4.9 x 10°Vs (A 0 a/Moa)"”*
EEEL AJLNm/sD) 1.40E+59]A=Moa x (4.9 x 10°Vs (A 0 a/Moa)* x 2 77)?
T ARYT 44D EFESa2(km?) 200

= 8
T ARYT44A D FHF XY EDa2(m) 11.72|Moa4= y DaSa

T AR T A4TDE—*>FMoa2(Nm)

1.09E+20

Moa4=Moa X Sa4"®/ = Sai

EREDE—AUE

4.53E+18

T ARYTA4D & 71185 +A—5 A 0 a2(MPa)

93.6

0 a4=2.436Mo/S"®

fo(Hz) 22.191fc=4.9 x 10°Vs (A 0 a/Moa)'”®
SEEEL AJL(Nm/s?) 2.11E+24|A=Moa x (4.9 x 10°Vs (A0 a/Moa)* x 2 71)2
BE=ET
E#ESbkm?) 5448[Sb=S-Sa
ES 218
HEE— A2 FMob(Nm) 1.52E+21|Mob=Mo-Moa
EZDE—AUF 4.66E+17
F XY EDb(m) 6.04|Mob= 1 DbSb
IS5 71735 4A—% A0 b(MPa) 9.2| A0 =2.436Mo/S'®
fo(Hz) 0.035[fc=4.9 x 10°Vs (A 0 b/Mob)"®
SEEEL AL (Nm/s?) 7.42E+19[A=Mob x (4.9 x 10°Vs (A Tb/Mob)/* x 2 1)
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1993

2-3-10-1

FiEs ERE3E
[ ESLkm) 4
TEW(km) 63
L iR Ed(km) 100
Em O 157
ERISC) 11
FRYAAC ) 0
<5 =ZFa1—KMjma 15|8R& T
HEE— A2 FMo(Nm) 3.26E+20
E—AVRIYT ZF1—FMw 7.6 |Harvard CMT
ROBMICRIZ/NSA—4
Wi B A #E S(km?) 2595
SIEEEVs(km/s) 393
FHEE 0 (g/cm’) 3
RT3 1 (N/m?) 4.6E+10[ = p Vvs®
EHEIE A5 A—F Ao (MPa) 6
T4 XY ED(m) 2.71|Mo=u DS
BRI IEEE Vr(km/s) 2.8|Vr=0.72Vs
Fmax(Hz) 6| EEREAtE DS BEENSHESNIE
fo(Hz) 0.051[fc=4.9 x 10°vs (A0 /Mo)"?
5 B HAL AR JLANM/s®) 3.33E+19[A=Mo x (4.9 x 10°Vs (A0 /Mo) " x 2 71)2
FARTTAZERERINGA—3
T AR F 1 D EFESatkm®) 730[Sa=5 % 0.30
T ARTAHDFH T XY EDa(m) 5.42|Da=D x 2.0
T ARTATODHE—A2 FMoa(Nm) 1.83E+20|Moa= 1/ DaSa
T ARYTFADEIE N385 4A—2 A0 a(MPa) 22.7| Ao =2.436Mo/S'?
fo(Hz) 0.096fc=4.9 x 10°Vs (A 0 a/Moa)"”*
EREELAJLINm/sD) 6.66E+19[A=Moa x (4.9 x 10°Vs (AT a/Moa)' > x 2 1)?
T AR T 41D EFESal (km?) 730
EFHEDOHR 27
FARYTAIHRDFEHY T XY EDal(m) 5.42|Moal=y DalSal
FARYTL1TOE—*2FMoal(Nm) 1.83E+20|Moa1=Moa X Sa1'®/ = Sai
BREDE—A2MNm) 1.36E+18
FARYF DI85 2—8 A0 al(MPa) 22.7| Ao a1=2.436Mo/S'?
foal(Hz) 0.096fc=4.9 x 10°Vs (A 0 a/Moa)"”*
EREEL AL (Nm/s?) 6.66E+19[A=Moa x (4.9 x 10°Vs (AT a/Moa)' > x 2 1)*
35050
T #&Sb(km?) 1865[Sb=S-Sa
EXMmEDOHR 69
HhETE— A2 FMob(Nm) 1.43E+20|Mob=Mo—Moa
EREDE—F2FNm) 2.58E+17
F XY EDb(m) 1.65|Mob= ¢t DbSb
531735 4—4% A0 b(MPa) 4.3| A0 =2.436Mo/S'*
fc(Hz) 0.060|fc=4.9 x 10°Vs (] o b/Mob)""*
SEREEAL A JL(Nm/s?) 2.03E+19] A=Mob X (4.9 X 10°Vs (AT b/Mob)"® x 2 71)?
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2003

2-3-11-1
E 2003 =B it #E
FE(km) 19
ig(km) 17
LimiES 60
EEC ) 192
ERAC) 68
FTRYFC ) 73
KETIJ=Fa—FM 70
E—AUMRYT ZFa1—FMw 7.0 |ileh (2003)
HEE—A FMo(Nm) 3.81E+19|Mo=7 71 1.5/16 X Mo/S"°/ Ao

RIAWICR/35A—4

Wi B EHE S(km?) 323

SIEEEVs(km/s) 393

EHBE 0 (g/cm’) 30

RIS ¢ (N/m?) 4.63E+10| 14 = p Vs

EHRAIS 71785 A—4F A 0 (MPa) 16.0

T4 XY ED(m) 2.55|Mo= 11 DS

BIRIGIEEE Vr(km/s) 2.83|Vr=0.72Vs

Fmax(Hz) 6| EERENtEDHAREZMNSHESNE
a—F—R K #fc(Hz) 0.135[fc=4.9 x 10°Vs (A 0 /Mo)"?

G EEAL A JLANM/s2) 2.76E+19[A=Mo X (4.9 X 10°Vs (A g /Mo)"* x 2 71)?2

FARTAZERE/NTA—E

T AR F 1 D EFESatkm®) 65/Sa=0.2 X S
FARYTAHDFH T XY EDa(m) 5.09|Da=D x 2.0

T AR T A TDIE—+>FMoa(Nm) 1.53E+19|Moa= i DaSa

T ARYTFA DG H /NS5 A—F A 0 a(MPa) 71.5| A 0 a=2.436Mo/S"®
a—F+—RB i $fca(Hz) 0.322fca=4.9 x 10°Vs (A 0 a/Moa)'”®

EREEALAJLAa(Nm/s?) 6.26E+19| Aa=Moa X (4.9 X 106Vs (A 0 a/Moa)* x 2 71)2
T AR T4 DEHESal(km?) 65
EFRHN 20
FARYTAHRDFHT XY EDal(m) 5.09|Moal= ¢ DalSal

T ARYTALTHDE—*> FMoal(Nm) 1.53E+19|Moal=Moa X Sa1"®*/ ¥ Sai"®
BRBREDE—*2FNm) 1.91E+17

FARYTADIENINGA—F A gal(MPa) 71.5| A 0 a1=2.436Moal/Sa1"’
a—+—RliE$ifcal(Hz) 0.322|fcal=4.9 x 10°Vs (A g al/Moal)'"’?

SEREEIL A JLAa1(Nm/sD) 6.26E+19|Aa1=Moal X (4.9 X 10°Vs (A gal/Moal)*x 2 7)?
A

EF&Sbkm?) 258|Sb=S-Sa

ERN 80

HhEE— A2 FMob(Nm) 2.29E+19(Mob=Mo—Moa

BEREBEODE—AVE 3.18E+16

9 R =Db(m) 1.91|Mob= ¢t DbSb

5785 A—43 A 0 b(MPa) 13.4| A ob=2.436Mo/S'?

a—7F—RAiEEfc(H2) 0.161|fcb=4.9 x 10°Vs (A gb/Mob)""?
SEEBLAJL(Nm/s?) 2.35E+19[Ab=Mob X (4.9 x 10°Vs (A gb/Mob)*x 2 71)?
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1982 (

2-3-13-1

W= SESAL
E&Lkm) 20
TEW(km) 30
Lim R Ed(km) 22
FEM 6 150
BRI 6C ) 50
FRYFAC ) 110
<Y ZFa1—KMjma 7.1
HEE— A FMo(Nm) 2.40E+19| K EFH(1983)
E—AURIY ZFa1—FMw 6.9
YOI RIz/NSA—4
W B E i S(km?) 600|S=(A 0 =771.5/16 X Mo/S1.5)
S EEVs(km/s) 3.93
FEE 0 (g/cm’) 3
RIS 4 (N/m®) 4.6E+10| = p Vs?
EHRER H/85A—4 A0 (MPa) 4R EIEZH(1983)
Fi#5 ¢ XY ED(m) 0.86|Mo= DS
IR IE R E Vr(km/s) 2.8|Vr=0.72Vs
Fmax(Hz) 6| EEEENEOBNRGN S HESNE
fc(Hz) 0.106(fc=4.9 x 10°Vs (AT /Mo)""?
EEHLAILANM/sD) 1.06E+19|A=Mo X (4.9 X 10°Vs (A0 /Mo)"* x 277 )?
TFARY T ERF/INTA—4
T AR T4 D EFESakm?) 120[Sa=0.28
FARYTAADFS X EDa(m) 1.74|Da=D X 2.01
T AR T4 TDEE—A>2 FMoa(Nm) 9.65E+18|Moa= (¢ DaSa
T AR F A DIE 51735 A—45 A 0 a(MPa) 17.9| A0 =2.436Mo/S'?
fc(Hz) 0.237|fc=4.9 x 10°Vs (A 0 a/Moa)"”?
5SEREIBALAIL(Nm/s?) 2.13E+19|A=Moa x (4.9 x 10°Vs (A0 a/Moa)®x 271 )?
T ARYTF 41D EFESal(km?) 120
EFRH 30
TARYTA1IADFH T RY=ZDal(m) 1.74|Moal1=y DalSal
T ARYT A1 THE—+>FMoal(Nm) 9.65E+18|Moa1=Moa X Sa1'®/ = Sai
ERREDE—FUF 6.43E+16
FZARYTA1DIE H /35 *2—4 A0 al(MPa) 17.9| A0 a1=2.436Mo/S'?
fcal(Hz) 0.237|fc=4.9 x 10°Vs (A T a/Moa)"”*
SEREIEAL A JL(Nm/s?) 2.13E+19|A=Moa x (4.9 X 10°Vs (A g a/Moa)’* x 2 71 )2
EEMEE
T F&Sb(km?) 480
EFRH 120
HEE— A2 FMob(Nm) 1.44E+19|Mob=Mo—-Moa
BERREBEODE—FUH 1.09E+16
3R EZEDb(m) 0.65|Mob= ¢ DbSb
551785 2—% A0 b(MPa) 3.3| A0=2.436Mo/S"*
fc(Hz) 0.118[fc=4.9 x 10°Vs (A T b/Mob)'*
SEERHLAILINm/s?) 7.92E+18|A=Mob x (4.9 X 10°Vs (A 0 b/Mob)" > x 2 1) ?
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